
 

 

mailto:lenaalkasimy@gmail.com
mailto:Layla.a.Jaber@tu.edu.iq
mailto:Firastaher@tu.edu.iq


  



ͦ

ͦ

ͦ

ͦ

 

8000
9000

10000
11000
12000
13000
14000
15000
16000

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6



℃

0

0.5

1

1.5

2

2.5

3

280 285 290 295 300 305 310 315 320 325



ₒ

y = -3898.4x + 8.4925
R² = 0.9146

-6

-5

-4

-3

-2

-1

0

0.0029 0.003 0.0031 0.0032 0.0033 0.0034 0.0035 0.0036

y = -0.0064x + 0.4864
R² = 0.9497

0

0.1

0.2

0.3

0.4

0.5

0.6

0 5 10 15 20 25 30

ln
[A

]

t



 

Δ Δ Δ

y = -1.9591x + 2.5487
R² = 0.9306

-5

-4

-3

-2

-1

0

2.9 3 3.1 3.2 3.3 3.4 3.5 3.6



  

 

0

0.5

1

1.5

2

2.5

3

3.5

0 1 2 3 4 5 6 7 8 9 10

6000

7000

8000

9000

10000

11000

12000

1.5 3 6 12 24 30 40



 

 

 

 

 ‐
‐

‐

 

 

 

-0.00006

-0.00001

0.00004

0.00009

0.00014

0.00019

0.00024

0.00029

0.00034

0.00039

-6 -5.5 -5 -4.5 -4 -3.5 -3 -2.5 -2 -1.5 -1 -0.5 0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

[v
]/

1

[s]/1

-0.00005

0

0.00005

0.0001

0.00015

0.0002

0.00025

0.0003

0.00035

0.0004

0.00045

-2 -1 0 1 2 3 4 5

1
/[

v]

[s]/1



 

 

 

 

 

α

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 ‐
‐

‐

 

 

 

 

 

 

 

 


